

الف) $y = x^2 - 4x + 4$
 $y_{\min} = \frac{-b}{2a} = \frac{4}{2} = 2$ $y_{\min} = 4 - 4 + 4 = 4$

ب) $y = -x^2 + 4x - 4$
 $y_{\max} = \frac{-b}{2a} = \frac{-4}{-2} = 2$
 $y_{\max} = -4 + 4 - 4 = -4$

الف) $\Delta > 0 \rightarrow m^2 + 1 + 2m - 4(\frac{1}{m+1})(2) > 0 \rightarrow m^2 - 2m - 1 > 0$
 $(m+1)(m-3) > 0 \rightarrow m < -1$ یا $m > 3$

ب) $\Delta = 0 \rightarrow m^2 - 2m - 1 = 0 \rightarrow m = 3$ یا $m = -1$

ج) $\Delta < 0 \rightarrow m^2 - 2m - 1 < 0 \rightarrow -1 < m < 3$

د) $\Delta \geq 0 \rightarrow m^2 - 2m - 1 \geq 0 \rightarrow m \leq -1$ یا $m \geq 3$

الف) $\Delta > 0 \rightarrow 4m^2 + 4 + 4m - 4(0)(m-2) > 0 \rightarrow 4m^2 + 4m + 4 > 0$
 $\Delta < 0 \rightarrow \frac{4}{4} = \frac{4(m+1)}{m-2} < 0 \rightarrow \frac{-1}{m-2} < 0 \rightarrow m < 2$

ب) $\Delta > 0 \rightarrow \frac{4}{4} = \frac{4(m+1)}{m-2} < 0 \rightarrow m < 2$
 $|a_1| > |a_2| \rightarrow 4 - 4 < 0 \rightarrow \frac{4(m+1)}{m-2} < 0 \rightarrow -1 < m < 2$

الف) $\Delta > 0 \rightarrow \frac{4}{4} = \frac{4(m+1)}{m-2} < 0 \rightarrow m < 2$

ب) $\frac{-b}{2a} = -2 \rightarrow \frac{4(m+1)}{4(m-2)} = -2 \rightarrow m+1 = -2m+4 \rightarrow 3m = 3 \rightarrow m = 1$

الف) $\frac{4x^2}{x} - (x \sin \alpha) x + \frac{4}{x} = 0$
 $\Delta \geq 0 \rightarrow 4 \sin^2 \alpha - 4(\frac{4}{x})(\frac{4}{x}) \geq 0 \rightarrow 4 \sin^2 \alpha \geq 16 \rightarrow \sin^2 \alpha \geq 4 \rightarrow \sin \alpha \geq 2$ یا $\sin \alpha \leq -2$

ب) $\frac{4x^2}{x} - 4x + \frac{4}{x} = 0 \rightarrow 4x^2 - 4x + 1 = 0 \rightarrow (2x-1)^2 = 0 \rightarrow x = \frac{1}{2}$

ج) $\frac{4x^2}{x} + 4x + \frac{4}{x} = 0 \rightarrow 4x^2 + 4x + 1 = 0 \rightarrow (2x+1)^2 = 0 \rightarrow x = -\frac{1}{2}$

$r=1 \Rightarrow r_{n+1} = r_n + 1$
 $r_{n+1} = r_n + 1$
 $r_n = 1$

$$y_n = \frac{(r_n^2 - (n-1)(r_n - r_{n-1}))}{1 - r^2} \cdot \frac{(n-1)(r_{n-1} - 1)(r_n - r_{n-1})}{(1-r)(1+r)} + (-1)^{n+1}(r_n - r_{n-1})$$

$$= (-1)^{n+1}(r_n^2 - (n-1)(r_n - r_{n-1})) + (-1)^{n+1}(r_n - r_{n-1})$$

$$y_{man} = \frac{\Delta}{r_n} = \frac{-(r_n^2 - (n-1)(r_n - r_{n-1}))}{-r^2} + \frac{r_{n-1}}{-r^2} + \frac{r_{n-1}}{r^2}$$

$$m r^2 - (m+1)r - r^2 = 0 \quad \alpha + \beta = \frac{m+1}{m} \quad \alpha + \beta = \frac{m+1}{m} \rightarrow \frac{-r}{\epsilon} = \frac{-1}{r}$$

$$(r\alpha + \beta) = \omega\alpha + \beta + V$$

$$\frac{r m + 1}{m} = \frac{-1}{m} + V \rightarrow \frac{r m + 1}{m} = V \rightarrow V = \frac{r m + 1}{m}$$

$$\alpha + \beta = (r\alpha + \beta) - (r\alpha + \beta)$$

$$\hookrightarrow \frac{r}{\epsilon} - r\left(\frac{-1}{r}\right) = \frac{r}{\epsilon} + 1 = \frac{1}{r}$$

$$r r^2 - \omega r + r^2 = 0 \quad \alpha + \beta = \frac{r}{\omega} \quad \alpha + \beta = \frac{r}{\omega}$$

$$\frac{r\alpha + \beta}{\alpha + \beta} = \frac{\epsilon}{\omega} \frac{\alpha}{\beta} + \frac{1}{\beta} = \frac{\epsilon}{\omega} \frac{\alpha}{\beta} + \frac{1}{\beta} = \frac{\epsilon}{\omega} \frac{\alpha}{\beta} + \frac{1}{\beta} = \frac{\epsilon}{\omega} \frac{\alpha}{\beta} + \frac{1}{\beta}$$

$$= \frac{1}{\omega} (1 - \epsilon) = 1$$

$$y_1 = a r^2 + b r + c \Rightarrow a r^2 + b r + c \rightarrow a r^2 + b r + c = r^2 + 6 \rightarrow a r^2 + b r + c = r^2 + 6$$

$$y_r = r^2 + 6$$

$$c = r$$

$$d = -r^2 + 1 r + r$$

$$c = \frac{-b}{r} = \frac{-1}{r} = \frac{1}{r}$$

$$\begin{cases} r a + b = 1 \\ r a - r b = 1 \end{cases} \rightarrow a = 1, b = r$$

$$a = \frac{-r}{r}$$

$$y_1 = (r^2 + (n+1)r + m + 1) \rightarrow r^2 + (n+1)r + m + 1$$

$$y_r = r^2$$

$$r^2 + (n+1)r + m + 1 = r^2 + (n+1)r + m + 1$$

$$m = 1, n = 1$$

$$(n-1)(n+1) = 0$$

$$m = 1$$